

## COMPARATIVE ASSESSMENT FORM

POSITION TO BE FILLED: TOURISM OPERATIONS ASSISTANT ITEM NO.: 2022-171

DATE POSTED: JULY 14, 2023

**DATE PUBLISHED: JULY 14, 2023- JULY 29, 2023** 

LOCATION: OFFICE OF THE MAYOR

RATE/mo.: 16, 758.00

	PRESENT POSITION TITLE/			PRE	ELIMINAR	Y EVALUAT	TION			FURTHER ASSESSMENT	OVER		REMAR
	SG/ STATUS	CIVIL SERVICE ELIGIBILITY	PERFORMANCE RATING (35%)	EDUCATION (15%)	TRAINING (10%)	EXPERIENCE (20%)	POTENTIAL (10%)	PSYCHOSOCIAL ATTRIBUTES (10%)	TOTAL POINTS (100%)	WRITTEN EXAM/ SKILLS/ TEST/ ETC.	ALL POINTS	RANK	
GARY C. CASERES	UTILITY WORKER I/SG1	CS Res. 21070765	30.59	3	8	20	8	8.25	77.84		77.84		

\*\* NOTHING FOLLOWS \*\*

ERNIE T

DINDO M, AMORGANDA, Ph.D.

Member

Personnel Selection Board

ELAN N. QADAYDAY Member

MARJORE A. ABRIO

Member

LUCRECIA/C. NICOLAS

LELANIE MALACAPAY Member



#### COMPARATIVE ASSESSMENT FORM

POSITION TO BE FILLED: ENGINEER III

DATE POSTED: JULY 14, 2023

ITEM NO.: 2022-175

DATE PUBLISHED: JULY 14, 2023- JULY 29, 2023

LOCATION: ENGINEERING OFFICE

RATE/mo.: 46,221.00

NAME OF POSIT	PRESENT POSITION		FURTHER ASSESSMENT	OVER		REMARKS							
CANDIDATE	TITLE/ SG/ STATUS	CIVIL SERVICE ELIGIBILITY	PERFORMANCE RATING (35%)	EDUCATION (15%)	TRAINING (10%)	EXPERIENCE (20%)	POTENTIAL (10%)	PSYCHOSOCIAL ATTRIBUTES (10%)	TOTAL POINTS (100%)	WRITTEN EXAM/ SKILLS/ TEST/ETC.		RANK	
BEVERLY CADALZO	ENGINEER II/ SG-16	CIVIL ENGINEER LICENSURE EXAMINATION	28.35	5	10	20	8	8.683	80.033		80.033		

\*\* NOTHING FOLLOWS \*\*

Personnel Selection Board

ERNIE JUY, RN, JI

DINDO M, AMORGANDA, Ph.D.

ELAN N. CADAYDAY

Melpher

MAROGRIE A. ABRIO Member LUCRECIA C. NICOLAS

Member

LELANIE MALACAPAY





### COMPARATIVE ASSESSMENT FORM

POSITION TO BE FILLED: LRCO II DATE POSTED: OCTOBER 19, 2023

ITEM NO.: 2022-184

DATE PUBLISHED: OCTOBER 19, 2023-NOVEMBER 03, 2023

LOCATION: MUNICIPAL TREASURER'S OFFICE

RATE/mo.: 32,957.00

NAME OF CANDIDATE	PRESENT POSITION TITLE/ SG/		Albana	PRELIN	MINARY 1	EVALUATIO	N			FURTHER ASSESSMENT	OVER		REMARKS
	STATUS	CIVIL SERVICE ELIGIBILITY	PERFORMANCE RATING (35%)	EDUCATION (15%)	TRAINING (10%)	EXPERIENCE (20%)	POTENTIAL (10%)	PSYCHOSOCIAL ATTRIBUTES (10%)	TOTAL POINTS (100%)	WRITTEN EXAM/ SKILLS/ TEST/ETC.	ALL POINTS	RANK	
MARY ROSE SALABAS	CASHIER II SG-14	CAREER SERVICE PROFESSIONAL	30.66	5	7	10	8	8.5	69.16		69.16		

\*\* NOTHING FOLLOWS \*\*

Personnel Selection Board

ERNIE TOY, RN, JD

INDO M. AMORGANDA, Ph.D.

Member

ELAN N. CADAYDAY

Member

MARJORUE A. ABRIO

LUCRECIA C. NICOLAS

Member

LELANE MALACAPAY





## COMPARATIVE ASSESSMENT FORM

POSITION TO BE FILLED: SOCIAL WORKER II

DATE POSTED: JULY 14, 2023

ITEM NO.: 2021-156

DATE PUBLISHED: JULY 14, 2023-JULY 29, 2023

LOCATION: MSWD OFFICE

RATE/mo.: 32,957.00

NAME OF POSITION TITLE	PRESENT POSITION TITLE/ SG/		PRELIMINARY EVALUATION										REMARKS
	STATUS	ELIGIBILITY PERFO	PERFORMANCE RATING (35%)	EDUCATION (15%)	TRAINING (10%)	EXPERIENCE (20%)	POTENTIAL (10%)	PSYCHOSOCIA L ATTRIBUTES (10%)	TOTAL POINTS (100%)		OVER ALL POINTS	RANK	
IREEN JUNE VAILOCES	SOCIAL WELFARE OFFICER I/SG-11	SOCIAL WORKER LICENSURE EXAMINATION	30.31	5	10	10	8	8.5	71.81		71.81		

NOTHING FOLLOWS \*\*

ERNIE J. UY, RN, JD Chairperson

DINDO M, AMORGANDA, Ph.D. Member

Personnel Selection Board

ELAN N. CADAYDAY Member

MARJORIE)A. ABRIO

Member

LUCRECIA C. NICOLAS

Member

LELANIE MALACAPAY



#### COMPARATIVE ASSESSMENT FORM

POSITION TO BE FILLED: MARKET SUPERVISOR III DATE POSTED: OCTOBER 19, 2023-NOVEMBER 03, 2023

ITEM NO.: 2022-183

LOCATION: TREASURER'S OFFICE

DATE PUBLISHED: OCTOBER 19, 2023-NOVEMBER 03, 2023 RATE/mo.: 42,053,00

	or octob.	210 17, 2023-10	OVENIBER 03,2	2023	DATE	roblished:	OCTOBER 19,	2023-NOVEMBER	15,2025	KA I E/III0.: 42	,033.00		
CONTRACTOR	PRESENT POSITION TITLE/			PR	ELIMINAI	RY EVALUA	TION			FURTHER ASSESSMENT	OVER		REMARKS
	SG/ STATUS	CIVIL SERVICE ELIGIBILITY	PERFORMANCE RATING (35%)	EDUCATI ON (15%)	TRAINING (10%)	EXPERIENCE (20%)	POTENTIAL (10%)	PSYCHOSOCIAL ATTRIBUTES (10%)	TOTAL POINTS (100%)	WRITTEN EXAM/ SKILLS/ TEST/ ETC.	ALL POINTS		
MARCELL R. ACABAL	TEACHER III SG-12	TEACHER LICENSURE EXAMINATION (PBET)	32.991	10	10	20	7	8.32	88.311		88.311	2	
REY C. ANFONE	TEACHER II SG-11	TEACHER LICENSURE EXAMINATION (PBET	28.105	5	4	20	7	8.01	72.111		72.111	3	
NORMANDY K. CARPIO JR.	ASSISTANT PROFESSOR I &G-15	NURSES LICENSURE EXAMINATION	35.00	10	10	15	10	8.68	88.68		88.68	1	
	/				at at	MOTITIO DO							1

\*\* NOTHING FOLLOWS \*\*

Personnel Selection Board

ELAN N. CADANDAY

LUCRECIA C. NICOLAS

Member

LELANIE MALACAPAY

ERNIE T. Y, RN, JD Chairperson

AMORGANDA, Ph.D. DINDO M,



### COMPARATIVE ASSESSMENT FORM

POSITION TO BE FILLED: MAA II

ITEM NO.: 2015-99

LOCATION: OFFICE OF THE MUNICIPAL ACCOUNTANT

DATE POSTED: OCTOBER 19, 2023

DATE PUBLISHED: OCTOBER 19, 2023-NOVEMBER 03, 2023

RATE/mo.: 42, 053.00

NAME OF CANDIDATE	PRESENT POSITION TITLE/			PRELIN	MINARY 1	EVALUATIO	N			FURTHER ASSESSMENT	OVER		REMARKS
	SG/ STATUS	CIVIL SERVICE ELIGIBILITY	PERFORMANCE RATING (35%)	EDUCATION (15%)	TRAINING (10%)	EXPERIENCE (20%)	POTENTIAL (10%)	PSYCHOSOCIAL ATTRIBUTES (10%)	TOTAL POINTS (100%)	WRITTEN EXAM/ SKILLS/ TEST/ETC.	ALL POINTS	RANK	l L
JANICE CADIZ	MAA I SG-11	CAREER SERVICE PROFESSIONAL	27.09	5	7	20	7	8.15	74.24		74.24	2	
MARISSA OJEDA	BOOKKEEPER I/SG-08	CAREER SERVICE PROFESSIONAL	26.74	7	7	15	9	8.475	73.215		73.215	3	
RUTH VELARDE	BUDGET OFFICER I/ SG-11	CAREER SERVICE PROFESSIONAL	25.55	5	7	20	9	8.316	74.866		74.866	1	

\*\* NOTHING FOLLOWS \*\*

Personnel Selection Board

ELAN N. CADAYDAY Member

ERNIE TAY, RN, JD

LELANIEMALACAPAY

KARENJEAN A. LOBOS

LUCRECIA C. NICOLAS

DINDO MAMORGANDA, Ph.D.



#### COMPARATIVE ASSESSMENT FORM

POSITION TO BE FILLED: PDO I DATE POSTED: JULY 14, 2023

ITEM NO.: 2022-166

LOCATION: MSWD OFFICE

DATE PUBLISHED: JULY 14, 2023-JULY 29, 2023

RATE/mo.: 24,300.00

	PRESENT POSITION			FURTHER ASSESSMENT	OVER		REMARKS						
CANDIDATE	TITLE/ SG/ STATUS	CIVIL SERVICE ELIGIBILITY	PERFORMANCE RATING (35%)	EDUCATION (15%)	TRAINING (10%)	EXPERIENCE (20%)	POTENTIAL (10%)	PSYCHOSOCIAL ATTRIBUTES (10%)	TOTAL POINTS (100%)	WRITTEN EXAM/ SKILLS/ TEST/ ETC.	ALL POINTS	RANK	
ANTHONY IBERO	PDO II SG -15	CAREER SERVICE PROFESSIONAL	32.15	5	7	10	9	8.725	71.875		71.875		

\*\* NOTHING FOLLOWS \*\*

Personnel Selection Board

ERNIE A. UV, RN, JD

DINDO M. AMORGANDA, Ph.D.

Member

ELAN N. CADAYDAY Member

MARJORIDA. ABRIO

LUCRECIA C. NICOLAS

Member

LELANIE MALACAPAY